Time: 3 Hours

KHULNA UNIVERSITY OF ENGINEERING & TECHNOLOGY

Department of Textile Engineering
B. Sc. Engineering 1st Year Backlog Examination, 2018

Math-1221
(Mathematics-II)

N.B.: i) Answer any THREE questions from each section in separate scripts.

ii) Figures in the right margin indicate full marks.

iii) Assume reasonable data if missing any,

Total Marks: 210

‘l(a) '

1(b)

1(c)

2(a)
2(b)

2(c)

3(a)

3(b)
3(c)
4(a)
4(b)

4(c)

Find the rotational angle of the axes to remove the xy-— term from the
equation 3x2 + 2xy + 3y? = 1. Hence find the transformed equation.

Find the transformed coordinates of (—2,1) with respect to 3x —4y+ 1 =0 and
4x + 3y — 1 = 0 as the x-axis and y-axis respectively. Also find the distance from the
point (=2,1) to the point of intersection of these two axes.

Identify the conic represented by the equation:

x% = 5xy + y? + 8x — 20y + 15 = 0, and also find its standard form.

Find the rectangular and spherical polar coordinates of the point A, whose cylindrical

coordinate fs (3,7?-, 4).

Find the equation of the pianc through the point (2, —1,—4) and perpendicular to the

planes 3x + 4y —5z+6=0andx -2y +2z+1=0.

Find the distance from a point P(2,3,—4) to the plane x + y + 62z — 2 = 0 measured
x=1 _y-2 _ z-3

parallel to the line '—2— = —1— = s .

Test whether or not the straight lines 5_——: == =— an
coplanar. If they are non-coplanar, then find the shortestdistance between them.
A line in 3-D space makes angle 90° with x and z axes. Find its direction cosines.
Find the standard form of the equation of a line-

3x+2y—3z2—-4=0=4x+y—2z+3.

Define great circle. Find the equation of the sphere, for which the circle x% + y? +
22+ 7y -2z + 2=0,2x+3y+4z=8 is a great circle.

Define right circular cone. Find the semi-vertical angle of .the right circular
cone, z2 — 2x2 — 2y? = 0. Also find its axis. '

Find the coordinates of the point where the line joining the poihts (3,—4,—5) and
(2,-3,1) cutstheplane 2x +y +z—12 = 0.
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5(a)

5(b)
5(c)

6(a)

6b)

6(c)

7(aj
7(b)

7(c)

8(a)

S(bj

8(c)

| SECTION-B S
Formulate a differential equation from the relation:
y = ¢c,e”%* cos 3x + c,e ¥ sin 3x y

Where C; and C, are arbitrary constants. Also write the order, dcgreé and state whether

. it’s linear or nonlinear,

Solve the differential equation 9yy’ + 4x = 0 and sketch two integral curve from the

solution.

Find the general solution of %‘f = —k{u—T, — Asint].

Find an integrating factor for the equation (3xy + y?) + (3c2 + xy)}y' = 0 and then

solve the equation,

dy _ x+2y-3

Solv .
g dx  2x+y-3

A body at a temperature 40°F is placed outside where the temperature is 90°F. If after

5 minutes the temperature of the body is 50°F, find the time required by the body to”

reach 60°F,

Solve (D_2 + 1)y = tan x by using the method of variation of parameter.

Solve " + 4y = x? +sin2x + e™*,

Find the work. done in-moving an object along a straight line from (3,2,~1) to

(5,—1,7) in a force field given by F = 4i — 3j + Zk.

Show that the vector field represeﬁted by

LR -

F= (2xé3 + 6y)1 + (6x — 2y2)f + (3x22% — yD)k '

~ is conservative and hence find its scalar potential.

If F = 4xzi — y2j + yzk, evaluate ' v

f F.Ads
5

Where S is the surface of the cube bounded by
x=0x=1Ly=0,y=1z=0,z=1.
Find the acute angle between the surfaces x? + y* +z? =9 and z=x?+y?~3 at

the point (2, —1,2).

~--END----
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' KHULNA UNIVERSITY OF ENGINEERING & TECHNOLOGY

Time: 3 Hours

N.B..

. Department of Textile Engineering .-
B. Sc. Engineering 1st Year Backlog Examination, 2018

Ph-1221
(Physics)

i) Answer any THREE questions from each section in separate scripts..
ii) Figures in the right margin indicate full ‘marks.
iii) Assume reasonable data if missing any.

- Total Marks: 210 -

1a)

1(b)

i(c)

2(a)

- 2(b)

2(c)

3(a)
3(b)

3(c) ‘

4(a)

a)
4(0)

‘What is interference of light? Discuss inteérference of light analytically and obtain the -

conditions of maximum and minimum intensities.

Discuss Young’s double slit experiment and hence show that, the spacing between two -

consecutive bright and dark fringes are the same.

In_ a Newton’s rings experiment the diameter of the 15" ring was found to be 0.590 em-

and that of the 5™ ring was 0.336 cm. If the radlus of the plano-convex lens is 1060 cm,

calculate the wavelength of the light used..

Discuss the Fraunhofer diffraction at a single slit. Draw the intensity distribution: for

- the diffraction pattern.

What is polarization of light? Explain Brewster’s Law and show that, when light is
incident on a transparent substance at the polarizing angle, the reflected and refracted
rays will be at right angle. |

A 20-cm long tube containing sugar solution rotates the plane of polarization by 11°. 1f

the specific rotation of sugar is 66°, calculate the strength of the solution. Lt

LY

Derive an expressmn for magmﬁcatlon of compound mlcroscope

What is Compton effect? Explain and derive an eXpression for Compton shift Ad onthe -

basis of quantum theory. o |
The threshold frequency of photoelectnc emission in copper is 1. 1)(105 Hz Find the
maximum energy of photoelectrons (in eV) when. light of frequency 1.5x1015_Hz is

directed on a copper surface.

Discuss uncertainty principle a_nd show that electron cannot stay in the nucleus with the
help of uncertainty principle. , ' ' S _

Derive an expression for energy of an electron of hydrogen atom.

Calculate the limiting value of wavelength for Lyman series.
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5(a)

5(®)

5(c)

- 6(b)

6(c)

7(a)

7(b)

7(c)

‘8(a)

8(b)

8(c)

- SECTION-B-

Explain the concept of Miller: 1nchces ‘How are they calculated’? How the orientziion of

a plane is specified by Miller 1ndlces‘?

'Deﬁne Primitive cell and Atomic Packmg fracuon Show that, for FCC stucture,
fatomlc packing fraction is 74%.

Show that for a cubic lattice, if (hkl) are correspondmg Mlller mdlces then mterplanar'

spacmg can be written as,
S a

T S—

Describe the formation of energy band in solids. Explain how it helps to classify the -

materials into metals, insulators and semiconductors.

- Show that according to Einstein model, lattic heat capacity can be written as-

GE erT
, c, _3R( ) &
. T 8z 2
. ..(eT—l).

Hence, at low temperature, compare the result with experimental observation.
Show that the ratio between thermal and electrical conductivity is proportional to

absolute temperature.-

What is-Hall effect? Show that, Hall coefficient Ry can belwritten as- -

1

Ry = —
H ne

L . 3 . .
Show:that average kinetic.energy of a free electron is gEf, ‘where Ey is Fermi-energy -

and average speed is E‘vff,"' whete vy is the velocity of Fe.tpﬁi‘surfacei
Calculate the inter collision time at room temperature and drift velocity in a f' eld of

100 Vm™tin sodmrn, whose conduct1v1ty is 2 16x1070" m=1,

. -

What is LASER'? Dlscuss the propertles of LASER and glve some appucatlons of

‘Laser.

Discuss the following terms briefly-
i) Population inversion .
i) Stimulated emission

. iii), . Spontaneous emission -
DISCI.ISS the fundamental theory of a chemlcal LASER

~ie-END-ie
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KHULNA UNIVERSITY OF ENGINEERING & TECHNOLOGY

Time: 3 Hours

N.B.:

Department of Textile Engineering
B. Sc. Engineering 1st Year Backlog Exammat1on 2018

Math-1121
(Mathemancs-I)

i) Answer any THREE questlons from each section in sepa.rate scripts.
ii) Figures in the right margin indicate full marks.
iii) Assume reasonable data if missing any.

.. Total Marks: 210

RO

10)

1)

2(a)

2(b)
2(¢)

3(a)

3(b)
3(c)

4(a)
4(b)
4

SEC TION A

A function f (x) is defined as follows:
c —2x —2forx < -3
Cf)=1{ 4for-3<x<1
: 2x +2forx>1

Discuss the. continuity and differentiability of f(x) atx = 1.

At a certain instance the side of a square is a 3 ft long and 1ncreasmg at arate of 2

ft/mmute How fast is the area increasing at that instance?

Find the nth derivative of-

: 1
y--————3-—-+—2~+3ce33xl

State Leibnitz’s theorem.
If y = (sin~ x)? then find y,,,,by uSihg Leibnitz’s theorem.

du

fu= fy—z2z—x, x= v), then determine the value of + — + =

‘State mean value theorem and venfy it for f (x) =x ..+_ 3x+2in[1,2}... ..

State Rolle’s theorem. Is Rolle $ theorem applicable for the functxon
f@ —~-—-—m[ 1,1]7?

Evaluate sin 31° using the valiie of $in 30° by Teylor’s seties.

Find the equation of tangent and normal at the point(1, —1) to the curve
x3+xy2-3'x2+'4x‘+5y+2 = 0.

Determine the radius of curvature at the origin of the curve y — x = x2 + 2xy + y2.

Determine all the asymptotes of the curve x® — 2x2y + xy? + x> —xy + 2 = 0.
- T _

Evaluate lim,,_,q (ta: x),x

F)
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5(a)
5(b)
5(c)

6(a)
6(b)

6(c)

Ta)
“7(b)

T(c)

8(a)

8(b)

8(c)

Caleulate f sm‘i(

~ .SECTION-B

Caleulate f ——u & +2)1&T4'_—’

' . 25inx+3 cosx
e ————————————
Evaluat f 4cosx+5sinx dx

)dx

2+x

Obtain a reduction formula for { sin® x dx and hence evaluate fsin®x dx.

Define Beta functlon and Gamma functlon Estabhsh the reiatlon between Beta

function and Gamma function, ~++ .

Determine the value of-

2 -4 - 6 .
1+\nZ 22\nZ [ | 3%\n? f. n
lt [(1 + ) 14— B G e S AR s [ A Sy

Evaluate L 1-1-9—3-(—1+—x)- dx

1+
At xtanx =
Evaluatef —_
0 secx+cosx
- dx .
Evalua
u te 0 1++vcotx

Test whether'th_e set of vectors {(2,. -1,4),(3,6,2), (2,10,—4)} are lineariy iﬂdependent

or not.

Find the inverse of the matrix A, if exists, where-

L 2 31
'-A=[2 3 o]

L 0 1 2
By elementary row transformatiéns. =

Solve the following system of linear equations

x+2y+3z=14 - .

2x +3y +4z=20
3x +4y + 6z =33

«=~-END-—--
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KHULNA UNIVERSITY OF ENGINEERING & TECHNOLOGY

. .Department of Textile Engineering.
B. Sc. Engineering 1st Year Backlog Examination, 2018

TE-1123.
(Polymer Engmeermg)
Time: 3 Hours © Total Mirks: 210
N.B.: i) Answer any THREE questlons from each section in separate scripts.
i) Figures in the right margin indicate full marks.
iii) Assume reasonable data if missing any.

" SECTION-A
I(a) Define: i) Mor_;omelj’, if) Homopolymer, and iii} Repeating unit.
1(b) Descfibe the-c'riteria oflﬁ'leer forrﬁing polymer. ‘ R
-l(c) Write down the monomer and repeat unit of the rfollowing‘ iaoiymere:
i) Nylon, u) Polyestyrene and m) Poly ethene
1(d) '.Write down the 1mportance of polymer in textiles.

2(a) Whatis polymerlzatlon?
2(b) Describe the free radical polymenzatlon with examples B

2(c) Show the relatxon between DP and extent of reactlon

2(d) What is Nylon 6 6? How thlS is formed"f‘

-3(a) . Define polymer degradation. Write down . the .changes happened due io poiymer
degradation.
3(b) How polymer degradation can be controfled? ., . .
3(c) - Write short notes on the followings:
) Anti-oxidants, and ii) Hydrolﬁic
:' 3(d) Describe photo-degradation process of polymer. .

4(a) Whet are Tm and T; ? Write down the relation between T and T,
4(b) Discuss the factors that influence the glass transition temperature of polymer.
4(c) What is softening point temperature? Briefly describe the measuring process of

temperature for polymer.
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3@

5(b)
5(c) :
5(d)

6@

6(b)

6(c)

6(d)

7(a)

7(b)
7(c)

7(d)

“'8(a)“ :

. 8(b)
8(c)

. SECTION-B . e |
Mentlon the names of different polymerlzatlon techmques ‘What are the reasons for
choosing different polymerization techmqucs?
Describe the Bulk polymerization wnth advantages and disadvantages.
State the.different steps of emulsion polymerlzatlon

Write short note on suspension polymepzatlon. ‘

What is meant by liquid crystal phase?

Discuss the adjacent reentry cham folded model for smooth and rough surfacs: s/ith
sketch, e

Why some polymers are hlghly crystallme ‘and some are hlghly amorphous" Explam

Write short note on spherullte structure '

Why tensile strength, impact strength, and chemic_al resist_ivity of a polymer increases
with the increase of molar mass? ” S
Differentiate between number average and weight average molecular welght

What are the different types of polyrner molecular welght? lee the equatlon for each
type. . _

What are the properties dependent on polymer molecular welght'? Sketch the g"8; ,h of 1

molecular weight versus polymer properties.

Write down the functions “of different’ zones of extruder in- polymer processing’

machine.

Describe the injection molding process of therrn‘oplas'tic*po‘lynﬁer:With- proper sketch,

Derive the followmg expression for rate of polymerlzatlon in chain ‘‘growth -

polymenzatmn
R ¢
rate = K[I];[M]J

Where [1] is initiator concentration, [M] is monomer concentration and K is constari;.

w=--END--—-
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KHULNA UNIVERSITY OF ENGINEERING & TECHNOLOGY
. Department of Textile Engineering.
B. Sc. Engineering 1st Year Backlog Examination, 2018 |

~ ME-1121
(F undamentals of Mechamcal Engmeermg)

Time: 3 Hours . -~ - S Total Marks:‘210

N.B..

iy Answer any. THREE quesnons from each section in separate scripts.
ity Flgures in the right'margin indicate full marks.
iii) Assume reasonable data if missing any.

1@

1(b)
R (c)

1(d)

 2a)

20)
:2(0)'

- 2(d)

| . 3(a)

30)

3(c)

3(d)

4a)

4(b)
4(c)

4(d)

SECTION-A

Deﬁne i) System, u) Cycle, and m) Process.

Derive the relation between Cp and Cy. _ ,

’ What is an ad:abatlc process'? Derive an expression for the work done durmg adiabatic
expansxon of an ideal gas. |
A container contains 0.5m® of gas at a pressure of 2.5bar and 170°C. It is
compressed adiabatically to a pressure of 10.0 bar. Deter'rnine the work required. Take
o =061 gand s = 0731 ek S

State and explam Zeroth law of thermodynamlcs .

What 1s PMMI" Is 1t p0551b1e or not" Explain.
What are meant by reVer51b1e and 1rreverssb1e process’? Explam the phenomena about
the cause of irreversibility and condition for reversibility.

Describe the working principle of a four stroke diesel engine.

‘Classify IC engine Write down the advantages and dii;advaﬁt‘éées of IC eogine.
Desor:be the workmg prmmple of four stroke d1ese1 engme o
leferentlate between petrol engme and dlesel engme |

Durmg the test on smgle cylmder oil engine, workmg on the four stroke OYCI\- and
fitted, w1th a rope brake the followmg readings are taken: Effectwe diameter of brake
whee1—~ 630 mm; Dead load on' brake= 200 N; Sprmg balance reading= 30 N;
Speed= 450 rpm; Mean effective pressure= 7.7 bar; Calorlfic value of

Oil = 42000 Kj/kg.

Calculate brake power, indicated power, and mechanical efficiency.

Draw the P — V and T — S diagram of i) Bryton cycle, ii) Dual cycle, and iii) Diesel
cycle.

What is gas turbine? Classify gas turbine with necessary explanation,

WHat is pump? Write down the classification of pump. Describe the working principle
of d reciprocating pump. '

Write short note on i) Compressor, and ii) Blower.
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5(2)

5(b)
5(c)

6(a)
6(b)

6(c)
6(d)

7(a)

7(b)
70
7(d)

8(a)

800)
8(c)

What is meant by stéam’ generatmg unit? Write down the diffefences between fire tube

boilers and water tube boilers. -

Descrxbe the workmg prmoxple of “La- Mont” borler wrth necessary sketches.

“Write down the functions of the followmg components ina steam boiler: -
i} Safety valve, 11) Water level indicator, iii) Feed pump, lv) A1r preheater, and v)‘ '

' Economizer,

Define i) Refngerant ii) Tonne of refngeratlon and iii) C.O.P.

State the properties of a good refngerant Estabhsh how an actual cycle drffers from a
theoretical vapour compression cycle. -

Show that (COP)HP = (COP)R +1

Describe the workmg prmclple of Vapour Absorptlon Refngeratron System wrth neat

sketch

Défine the :follotvi:n“g terms:

i) Specific humidity, ii) Wet bulb temperature, and iii) Dew point températire.

- Describe the working principle of “Summer air condrtronmg system w1th neat sketch
-Deﬁne comfort What are the faetors whlch affect comfort alr oondltlonmg'f

~ What is oondensanon‘? Dlstmgmsh between ﬁlm wme condensatlon and drop wise

condensatron

Define pool boilin'g. Describe the pool boiling phenomenaof water with mentioning its
regime with a clear sketch.
What i is black body? State Stefen-Boltzman s Law and Wem s drsplacement law

Consider slab of thickness L. The boundary surface atX = 0'and X =L aré mamtamed -

at constant but dlfferent temperature of T and Tz, respectlvely There 1s no energy“

"expressmn for the temperature distrlbutron Ty in the- slab and the thermal resrstance of

' the slab for the heat flow through an area A

- re-END-
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Time: 3 Hours

N.B.:

KHULNA UNIVERSITY OF ENGINEERING & TECHNOLOGY :

Department of Textile Engineering. .
B. Sc Engmeermg 1st Year Backlog Exammatlon, 2018

TE-1221
“(Textile Fibérs)

iy Answer any THREE questlons from each section i separate ‘scripts. o
ii) Figures.in the right margin indicate full marks.
iif} Assume reasonable data if missing any.

tha_l_dMarks: 210

-1(2)
. 1(b)

- 1(e)

2()
2(b)

20

U 3(a)
> 3(b)
3(c)
3(d)

4(a)
4(b)
4(c)

 SECTION-A. .

What is textile fiber? Classify the textile fibers with exaiiiples. .

Discuss the morphological diagram - of cotton _fiber,. rv'r.;entip,ni_l;lg.T the, chemical .

composition.

What is ginning? Differentiate between lint and linters.

State the grading system for jute and cotton.
Describe the physmal and chcm1cal properties of cotton ﬁber

Why jute is called bast ﬁber"

erte down the chemlcal COI’ﬂpOSlthD of Jute ﬁbers How and why rettmg IS done'? ,
Dlscuss the micro structure of wool ﬁber w1th neat sketch

State a procedure of dlstmgulshmg wool ﬁber from snlk ﬁber '

Discuss the chemical composmon and favorable properties of Coir and banana fiber.

What is Sericulture? Describe the production stages of silk filament.
Write short notes on: i) Degumming of silk, and ii} Carbonizing.

Mention the chemical composition and physical properties of silk.
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3{(a)

5(b)

5(c)

6
6(b)
6(c)

6(d)

)
70)

1)
8

R0
8(0)

.?SECTION-B:

Describe the characfernstres* of ﬁber formmg polymers

o

Explain the spmmng methods of man-made Ilbers W1th therr merlts and demerits.

Mention the spmnmg systems for the fo]}owmg fibers:

| ‘1) Carbon u) Nylon i), Polyester iv) Vlseose~rayon and v) Glass fiber

.- Describe the. manufacturing process of po]yester fibers. .

State the chemical properties of polyester ﬁbers
Mention the MR% and MC% for'the- followmg ﬁbers

i) Cotton, n) Jute, iii) Nylon) iv) Polyester, and V) PALF.
leferentlate between ‘Nylon 6 and: Nylon 66.

" Write short notes on: 1)Carbonﬁber,11)Kevlarﬁber, and 111)Glass fiber,

What are acrylic and modacrylic? Write down the physical and chemical properties of

acrylic fiber.
Describe the manufacturing process of polypropylene fiber

State the vanous steps mvolved in v1seose process.

What is elastomerlc ﬁber° Show the ﬂowchart of productlon of spandex fiber ’

Show the polymerization reactlon of acetate and trlacetate B

- e END----
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KHULNA UNIVERSITY OF ENGINEERING & TECHNOLOGY

Department of Textile Engineering
B. Sc Engineering 1st Year Backlog Examination, 2018

Ch-1121
(Chemlstry—l) o
Time: 3 Hours : - Total Marks: 210
N.B.: i) Answer any THREE questlons from each section in separate scrlpts
ii) Figures in the right margin indicate full marks.
iii) Assume reasonable data if missing any.
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SECTION-A
) 1{a) 'What -is eleetfephefesie? How can von' prove that eolloid pa.r-ti'cles are- eleetﬂca.l-lvu
charged?
| 1(b) Define coagulation and i)fecipiiation. In Betvveen' M;gC l; and K C L Wnich ene is the
better coagulant and why? | | | _ -
1(c) Explain dialysis and electrodialysis methods for the purification of sols.
2(a) Explain photosensmzed reaction with relevant example.
2(5)  Staté Stark-Einstein law  of photochemical equlvalence "Explain the -term
“Quantum Yield” .in a photochemical reaction. ‘
2(c) The quantum efficiency for the hydrogen and chlorine reaction is very high, why?
2(d) éaicuiate the energy (in joule) associated with one nheton of wavelength 8000 A. | 08
(h = 6.62x10727 erg-sec)
mé(a) What is bleaching agent? Compare the bleachmg mechamsm of NaC lOz and HOC I
3(b) Explaln with an example why pH ofa buffer solutlon ddes not change s1gn1ﬁcantly on
' ‘small addition of acids or bases.
3(c) Discuss the Ostwald’s theory of acid-base indicator.
4(a) What is bond order? Predict the bond order and magnetic properties of 0, and H,
_-molecule. '
4(b) How does molecular orbital theory differ from valence bond theory? Explam Wlth
suitable example.
4(c) “N, is diatomic but Ne is monoatomic” — Explain by MOT.

11




5(2)

5(b)
5(c)

6(a)

6(0)

6(c)
6(d)

7(a)
7(b)

1)
7(d)

8(a)
8(b)
8(c)

8(d)

SECTION-B
What is equivale‘nt condut‘,tan'c'e"fi - :ESh'ow" graphieally the " variation of equivalent
conductance agamst concentration for NaCl and C H;COOH. Explain the nature of

these curves.

‘State Kohlrausch’s law of independent migration of ions.

Define transport number and establish the relation t, + t_ =1,

Explain that the fully exposed metal surface is more beneficial than the pa:'tialljl _

exposed metal surface from the corrosmn pomt of view.

_Bxplaln why the presence of ac1d mcreases but base decreases the rate of under—water

corrosion.
“Bolts and nuts are made of the same metal in practlce - why’7

Deﬁne the follovwng terms with examples

1) Hydrolysis, ii) Pyrolysis

What are the colligative propertles and why are they so called?

Deduce frorn Raoult’s law an expressxon reIatmg the molecular mass. of a soluae wrth

the lowering of vapour pressure.

State and explain the Vant Hoff’s laws of osmotic pressure _ .
Show that the elevatron of b01hng pomt is d1rectly proportlonal to the lowermg of

vapour pressure

Wnte down the IUPAC name of the followmg cornplexes
i) [CO(NH3)4CI2]+ 11) K4[F~‘-’(CN)6]

Indicate the pnmary and secondary valenmes of the central metal in the fol]owmg
complex compounds:

-1) [COCNH3)6]C13 . ll) [CO(NH3)4C[2]CI

Apply VB theory to explain hybridization, shape, and magnetic behavior ¢f the
complex [Fe(CN)4I*~.

What is meant by “Effective Atomic Number”? Calculate the EAN in the following
complex: . o '
[Fe(CN)¢I*~

—---END-—-
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KHULNA UNIVERSITY OF ENGINEERING & TECHNOLOGY

Department of Textile Engineering
B. Sc. Engmeermg Ist Year Backlog Examination, 2018

Ch-1221
. - (Chemistry-II) e
Time: 3 Hours . Total Marks: 210
N.B.: i) Answer any THREE qucstlons from each section in separate. scr1pts
i) Figures in the right margin indicate full marks.
iil) Assume reasonable data if missing any.

SECTION-A

1(a) Define functlonal group isomerism and geometrical isomerism.
"1(b) What is plane polarized light? Explain. '
1(c) Explain the terms enantiomers and meso compound.

1(d) What is racemic mixture? Explain, -

2(a) Define staggered and eclipsed conformations giVing ‘examples, *
2(b) Outline the stereochemistry of cyclchexane giving energy diagram. -

2(c) Discuss the stereochemistry of SN; and SN, reactions.

2(d) Predict about R and S configuration of the compound CH;C*CIFBr.

3(a) Define aromaticity and ring current.
3(b) Discuss the mechanism of Friedel-Craft’s reaction.
3(c) Mention two important methods of synthesis of benzene.

3(d) What is meant by free radical and carbocation? Explain.

-
.

4(a) How can you distinguish between a ketone and an aldehyde?
 4(b) Alcohols and amines are highly soluble in water. Why?
4(c) Methylamine is stronger base than ammonia. Why?

4(d) Synthesize 2° amine and 3° alcohol.

Page 1 of 2.
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5(a)

5(b)
- 50)

6(a)
6(b)

6(c)

()
7(b)

- 7(0)

- 8(a)
“8(b)

- 8(c)

8(d)

. SECTION-B .
_What are carbohydrates? How aré; théy classified? - -
What is muté'rataﬁsn‘?.lﬁgbjaiﬁ with ﬂ}%ﬂelp of an ex'a‘u"ﬁple.r B

What are epimers? Differentiate between.anomers and epimers.

What are polysaCEhafidés';?'Writé thé@othp@éiﬁdﬂqf .star‘c.:‘h‘.“ B
Deduce the structure of amylopectin by end group analysis; -
What happens when cellulose is treated with: |

i) HNO3 + H,50,, ii) Acetic acid + Acetic anhydride.

Discuss the chemical properties of dyes and pigments.

Discuss the modern theory of color.

What are dye intermediates? Briefly discuss the application of dye intermediates. -

-

Explain the terms iso-electric point and peptide linkage. . .

Most of the «-amino acids are optically active. Why?
What are amino acids? Menti-on:their importance. :

How can you detect'C-termil;al and N-terminal residue of proteins?

—--END---- -
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KHULNA UNIVERSITY OF ENGINEERING & TECHNOL OGY

Time: 3 Hours
N.B.: i) Answer any THREE questlons from each section in separate scripts.

Department of Textile Engineering
B. Sc. Engineering 1st Year Backlog Examination, 2018
Hum-1221

(Busmess and Commumcatlve Enghsh)
' Total Marks: 210

ii) Figures in the right margin indicate full marks.
iii) Assume reasonable data if missing any.

- SECTION-A

1(a) Frame W/H questions from the following answer: ‘ 14 ‘
i) Dr. Smith s the author of this book.
i)  Jack’s plan succeeded at last.
iii)  You rnust» go home now.
iv) I depend on authentic books for data collection.
V) I want to know his address. |
vi) He is moving towards south.
vii)  The manager was late due to traffic jam.
1(b) Make sentences using the following words as dlrected- 12

Pen (as verb), Pen (as adjective); Money (as adjective); Place (as verb)

While (as conjunction); What (as pronoun). -

1{c) Make sentences using the following phrases and idioms:

-
5
el

A piece of cake, add insult to injury, all at once, black sheep, for good, in time

2(a) Correct the following sentences: ' . 14
i) I am the younger in the family.
if).  He is comparatively better today.
iii) ~ Most of the apples is rotten.
iv) One must do her work.
v) Cattles are grazing in the field.
vi) He rests in evening.
vii) Hegetsa good pay. -
Z(b) Transform the following sentences: _ 12
i) Her work is better than yours. (Positive)
i1) The police tried all plans. (Negative)
iif) Their glory can never fade. (Interrogative).
iv) I met a strange man. (Complex) _
V) He danced as if he were an expert dancer. (Simple) |
vi) In spite of my anﬁoyance, I kept quiet. (Compound)
2(c) Define present participle, infinitive and gerund with example. 09
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3(a) ,C‘p_rpp'l.et@ the following senténces with subordinate clauses: . 14

i) My mother taught me to read ........... DI
i) Mina went on readlng ...... RSP e |
iii) Thejourney took longcr than .......cooooiiinnin
» 1v) The passage is so dlfficult e
v; ' He is intelligent though ...... erieeeeeinedel
;:*vi)_ (GOt bedif it
. vii) Shellahad to waitanhour ....................

3(b) -"'Make one synonym and one antonym of each of the following words and use them in 12

_sentences |
7 Adverse Bonaﬁde Cordial.
3(©) Supply a suitable word to fill in the blanks of the following: - - - 09
i) Heanng the news, he hurried ............ home. '
CH) e at home, he met his parents: -
f_ iii)~-Ji i reererrine walking along the road, he met me.
iv) Hewas............... . the talkative lady. -
- V) The manis................. to die ‘
.V.lt) The police men are ............ ..+. for the criminals.
4(a) - Méke sentences using the following modals as directed- ? : 14
| i) May " (To express-guess about the future)
iy = May (To express guess about the present) :
| iti) Could - - - - ( To express past ability)
iv) Could (To express polite request)
V) Beto (To express arrangement) - -
vi) Be to - (To express command) -
_ vii)  Had better (To express performance) -
4(5) E;press the following notions in sentences: T i2

Worry, anger, surprise, disappointment, sympathy, revenge

4(c) Identify the parts of speech of the underlined words of the following sentences. 09
1) He runs fast.
1i) I fast every monday.

iii)  Respect your better.

iv) I know English better than you.

V) Either you or your brother should go.
vi) Either of the pens will do.
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5(a)

 5(b)

6(a)
6(b)

7(a)

7(0)-

8(a)

SECTION_—B
Read the passage and answer the questions: '

Advertising has become a very specialized activity in modern times. In the business

world of today, supply is usually greater than demand. There is a great corhpetition :

between different manufacturers of the same king of product to persuade custoraers to

‘ buy their own particular brand. They always have to remind the consumer of tl:e name

and qualities of their product. They do this by advertising. The manufacturer advertises

in the newspaper and on poster. He employs attractive sales girls to distribute sainples

“of it. He organizes competitions, with prizes for the winners. He often advertises on the -

screens of local cinemas. Advertisements are also broadcasted on television and radios.
Manufacturers often spend large sum of money on advertisements. We buy a particular
product because we think it is the best as the advertisements said so. Some people

never pause to ask themselves if the advertisements are telling the truth.

i) How many kinds of advertisements are mentioned in the passage? What are
they? |
it) Why do manufacturers spend so much money on advertising?

iii) Which do you think is the most effective advertisement? | R
iv) Do you- think we buy goods because they are advised? Give reasons for
yOur answer.

Make a précis of the above passage.

Write a list paragfé{ﬁh ona good student.
Amplify the idea contained in the following statement:

Borrowed garments never fit well.

Write a report on 21 February you observed in your campus.
Write a letter to the editor of a newspaper about student indiscipline and suggesting

remedies.

Write a free composition on any one of the followings:

a) Student politics: Its merits and demerits.
b) Religious festivals and their values.

--END----
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